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A starts some business with
* 50,000. After 3 months B joins
him with * 70,000. At the end
of the year, in what ratio
should they share the profit ?

A. 50,000 =i 95t @Y =% T
=R Y& 3 8 3 e % &% B
70,000 fAaw1 #X 36 =R ® e
&l Sl @1 3 o & g o 3 R
T § N W e,

(@ l1:3 (b) 3:2

(¢)1:5 (d) None of these
A, B and C started a business
with their investments in the
ratio 1 : 2 : 4. After 6 month A
invested the half amount more
as before and B invested same
the amount as before while C

withdrew —i;th of the his

mnvestments. Find the ratio of
their profits at the end of the
year.

4.

A, B am C3H gt gt argm*}

1:2: 4%’@3?@3&%@/

=R I fEA 6 A zj“:{%‘rt{_Aﬂ
firafora st =1 amen aifeg, i st B
q el fFafm o g e
st v 91, w3 G ¥ o1 Fdfere

\1x

4%‘#11‘1 g% e o s
w1 oad & arm ¥ 3= f5g aqm
wm fretm?

(@ 5:12:13 (b)5:11:14

(c) 5:12: 14 (d) None of these
A working partner gets 20% as
his commission of the profit
after his commission 1s paid. If
the working partner's commis-

sion 1s * 8000, Then what is the
total profit in the business?

788 |

5.

TF WiHT TR wl FHel MH H F TTH
FHOEE & F AR, T o w1 20%
FHvH % &9 H foan s 21 Ak afEa
T 1 FHvA Rs. 8000 &, @t w1
F AN 4 g @4 fwa g7

(a) * 47,000 (b) * 45,000

(c) * 48,000 (d) None of these

Rakesh Yadav Reader publica-
tion makes a proﬁt of 9,00,000,

20% of which 1s paid as taxes, Ifs

6.

the rest is divided amongy Jtha o’

partners P' Q and R in the gﬁf{

-vz\é

1'1l : 2, then thes hareso’fp

2
Q and R are respecthelyJ

THY FA_E T2 '9,00,000
F1 @4 W@‘%\fmﬁ% 20% 4P #
Wm?mf’%mm%l ofz o

mq’P"QamRaﬁm (s 1% 2%

eﬁﬁwﬂ‘ﬁmmb A S B wEw B

(fee w7

* Gy

2,40,000; *3,20,000;
'1,60,000

3,20,000; 2,40,000;
'1,60,000

'1,60,000; *3,20,000;
'2,40,000

"1,60,000; *2,40,000;
'3,20,000

We have to divide a sum of °
13,950 among three persons A,
B and C. B must get the double
of A's share and C must get *
50 less than the double of B's
share. The share of A will be :
Rs 13,950 = i 1 A, Ban CH 3@
TR aier s & foF B fewm A e
=1 2 71 8 aen C o fewn B 2 7 feedy
50 0 2N 76 R A e g7
* 19350 (b) * 1981.25

* 2000 (d) * 2007.75

(b)

(c)

(d)

(a)

(c)

10 gf"‘

7.

8.
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A started business with * 45,000
and B joined Q{ter ward with
_,'ﬁt at the end
of a year wa dlwded in the ratio
2:1 reS?ectWéfy then B would
have Jome¢ﬁ for business after.

Aﬂi*@w F 3T § 45000 Fi

ﬁﬁﬁﬁ?ﬁﬁw w7 4 9% B'30,000

O

L IG ANK | e B mEn 3

"'“ﬁa:awmﬁa%g; 1% s e

s g3 2 Al 96 B e v w ar
MR ¥ e g7

(@) 1 month (b) 2 month

(c) 3 month (d) 4 month

X and Y are partners in a
business. They invest in the
ratio 5 : 6, at the end of 8
months X withdraws his
capital. If they receive profits
in the ratio of 5 : 9, Find how
long Y's investment was used?

Xanm Y UF O § 99 5: 6%
s ® 95t e 3 8 W # wm X
F ot fafer Ot amow freee o afg
3% 5:9F U | TN W gan @,
at | Y F ot Ot R
fery framr =17

(a) 12 months (b) 10 months
(c) 15 months (d) 14 months
Four milkmen rented a pasture.
M put to graze 16 cows for 3
months and N 20 cows for 4
months, O 18 cows for 6 months
and P 42 cows for 2 months. If
M's share of rent be Rs. 2400,
the rent paid by O is.

=R gHaTEl 1 UF JnE e w e
M 4 16 74 =i 3 /e a%, N 7 20 i
1 4 TE 9%, OF 18 T 1 6 1 9%
a1 P 42 T} &l 2 HE 9% = 4
R =1 f § M 1 e 2400 @,
@ s w4 O w1 femm ww wW?

* 3200 (b) * 4200

* 4000 (d) * 5400

(a)

(c)
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9.

' 11250 are divided among A, B
and C so that A may receive one
half as much as B and C to-
gether receive and B receives
one-fourth of what A and C to-
gether receive. The share of A
1s more than that of B by.

11250 =t ufer w1 A, BAAT CH
™ yE =i 7 TR A% ferm, B

" 1 .
qa C# & fod #1 53 71 BH

%W,Aaancaﬁagﬁﬁwm%a
AT fFAT T Bafem o

13

(a) * 81,000 (b) * 1,27,000
(c) © 72,000  (d) * 1,17,000

A invested an amount of *
25,000 and started a business.
B joined him after one year
with an amount of * 30,000. Af-
ter two years from starting the
business, they earned the
profit of * 46,000. What will be
B's share in the profit?

A 7 UF AR H yEAE F 25,000
w1 gofl fe91 1 Uk 99 & 9% B
30,000 fraw %2 30 =R o it
TN HG FE AR R OEIE F 2 9
9% 46,000 % =& o9 | B #1 fewm

16. X and Y enter into a partner-

ship with capitals in the ratio
5: 6 and at the end of 8 months,
X withdraws. If they receive
profit in the ratio of 5 : 9. Find
how long Y's capital was used.
Xam Y T =9n § $091: 5: 6 F
s § S IS e #h 8 W &
ar X 3 et fafem ISt s freere
ol den 9 <l 4 HE: 50 9 % HdId
o oy e fa e LY F At Osi
form waa % fou faw =t 2

(a) 8 months (b) 9 months

(c) 11 month ;d) 12 months

fapa aifer 27 il »,
(a) * 2500 (b) * 1500 ! 17. Two par'tfl&rs\lﬁ est * 1,25,000
; . (a) * 14,000 (b) * 12,000 and 8 Q,Q respectively in a
)" 4800  4d) "0 ~ : it ol apiee fht G056 of
10. A starts a business with g 17,250 ()" 20,000 L8 e e 2"
! e il Dk v il 4, Mz. A apeued & workshep Wthe pf' t should be divided
: investing 40,000. He invested Uegy between them and the

with 36,000/- After how many

£ ,gre aining profit is to be divided

10 b

12.
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months did B join if the profit
1s distributed in equal ratio?

A7 UF MR F YEHE H 121,000
it Isit 39 Fi 91 B 999 % 9% B
* 36,000 4391 #T 39 =AMR § e
21 T AfE Y O S e g
B, 7 %t B fred 999 % 9% =muw

additional amount of 10,000
every year. After two years hi

his Jj+
Student B joined him with g[f{w-.

amount of 85,000. Thereaﬁ"r'@ ¥

did not invest any addj @
amount. On compleuon of four
vear form the f:nlag of
workshop they e (iﬁ}a profit
of 1,95,000. Whatwﬁn]l be A's

to ratio of their capitals. If
one partner gets - 300 more
than the other.Find the total
profit made mn the business.
T AfdEl 7 TH FUR R yEAd H
91 1,25,000 7 * 85,000 ¥
ISt freen =i wEE w1 v 9w fE

# e gan ? share i theéfaﬁgng @ F 60% TAA T4 H qe 99 @
:a]): [(z:; A 340, IS e wE T fofer doft @ o § afer STom At
C

A and B started a business in-
vesting amount of '1,85,000
and ' 2,25,000 respectively. if
B's share in the profit earned
by them is * 9,000 then what is
the total proﬁt earned by thet
together?

s m}
A 91 B 3 %o 1,85,000 91
2,25,000 Fi Fit Fraw b

g[&ﬁh‘qnaﬁB‘rl 9,0 ﬁﬁmm

979 Y #) S Sl i 10,000

Hﬁﬁ%{%ﬁv"{IZﬁEﬁaﬁm
firer, B/ 85,000 fdw 7 38 =Imm

rr\ﬁmﬂawamBﬁaﬁéaﬁﬁaﬁ
(AR e 8t 1 e 1 e &

15.

494 71 Ww ° 1,95,000 F Fe oAH
¥ A =1 fezmm == = 2

(a) 85,000 (b) 1,10,000

(c) 1,35,000 (d) 95,000

X and Y enter into a partner-

18.

TF WERT F g W 300 v fem
%, 9 < L SR F el e o g ?
(a) * 3739.50 (b) * 3937.50
(c) * 3749.50 (d) °3947.50

Two brother invested * 50,000 and

70,000 respectively in a
business and agreed that 70% of
the profits should be divided
equally between them and the
remaining profit in the ratio of

ﬁﬁl’l T T \ ks ?ﬁ s fre ship with their capitals in the investment. If one Brothersgets

ratio 7 : 9. At the end of 8th * 90 more than the other.Find
[a] 17,400 \'[j’}” 16,400 month, X withdraws his capi- the total profit made in the
(c) * 18, ) ep{d) * 17,800 tal. If they receive the profits business.

A and B stared a boutique in-
vesting amounts of * 35,000
and * 56,000 respectively. If A's
share in the profit earned by
them need is * 45,000, then
what 1s the total profit earned?
A Fem B UF g &I yEeTd H FA9:
* 35000 @1 * 56,000 Ft ¢St frEw
I Aff A A 45,000 w1 TH 9@
o, 9 9 ¥ =man o Ho ey fEam
g2

m the ratio 8 : 9, Find how long
Y's capital was used.

Xaa Y UF =998 5 &891: 7:9 %
AquA ° eqo g fraw w1 8 W &
% X 7 st Fafe It aw fea
off a1 S A A 8: 9 F UG H AW
e fFEan W owifSe Y F ered dsf
frad o % o f3w =1 2

(b) & months
(d) 8 months

(a) 4 months
(c) 7 months
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B uTA A T SN HI YEAE § HE9:
* 50,000 @1 * 70,000 Fi Isit Frewr
N WA & I T fF oww e w
70% T9F ¥ 4 qen v ene el
IS % eiqu # aiter s Az ww A
T Y 90 afer firew 2, @ 5+
=R H F faman @19 gaa?

(a) * 1200 (b) * 1400

(c) * 1600 (d) * 1800

|’ 789
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19,

20.

21.

22.
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The investments made by X and
Y are in the ratio 3 : 2. If 3% of
total profit is donated and X gets
* 8,550 as his share of profit
then what is the amount of to-
tal profit.

Xaen Y st el e 3 2% S
¥ frerer W 21 IR FI " F 5% A
s o fEen e A XA 8,550
1 @1H 9 a1, 9 /@A @\ 91 E
(@) * 14000  (b) * 15,000

(c) * 11,050 (d) * 12,020

A, B and C enter into a partnership
with capitals in the ratio 5 : 6 : 8.
At the end of the business term,
they received the profit in the ratio
5 : 3 : 12. Find the ratio of time for
which they contributed their
capitals?

A,B 71 C A T& =R 3% fan q«n
5:6:8 % [ o sAoAT goit FEw i
g 3= 5:3: 12 % FAUE H @49
arafy frg % eFuE o fEw =12
(@2:1:3 (b)1:2:3

(€) 2281 (d)3:2:1

X and Y entered into a partner-
ship, investing * 16,000 and *
12,000 respectively. After 3
months X withdrew * 5000, while
Y invested 5000 more. After 3

months more Z joins the busi-
ness with a capital of * 21,000.
After a year they obtained a

profit of *26,400. By what amount..,

does the share of Y exceed
share of Z. ,
Xaem Y3 #wav: 16,0&0%@&7 s
12,0003%%??1“:1&91 3 T s
¥ fF 3 W & A XA 5,000
i ﬁﬁma fora Y’ﬁ 5,000 3R
3@ % 7% Z°21,000
f H erfiet &1 T S
ETd 264003}‘?3ﬁEWﬁY3ﬂ%W,
Z % o ¥ T oo © 7
(a) * 3600 (b) * 3800
(c) * 4600 (d) * 4800
X, Y and Z are partner in a
business. If X's capital 1s twice
of Y's capital and Y's capital is
three times to that of Z's capital

then find the ratio of their
investments.

790 |

23.

24.

X, Y @ Z & % 99 foee
=TT 7% foRan ik X =t fFafea 9t Y
1 frafem G =1 2 0 € @ Y #
frafea 4, Z %1 et 4t %1 3 7
2, w X, Y aon Z # Frafim gt

F1 I F &2
[@)6:3:1 (b)3:8:1
[€)4:9:3 (d)3:1:5

X and Z invest capital in the
ratio of 2 : 1 while X and Y in-

vest capital in the ratio of 3 : 2.
If their annual profit is °
1,57,300 then what 1s Y share?

X, Y aa@ Z 7 v = 7w faad
XAam ZF 2: 1% 3o § safs X
AN YA 3:2F agua #, o Ot
e = afg sifis =19 © 1,57,300
%, @l EH Y @ feww w sim 2
(a) * 48,400 (b) * 58,809
(c) 48,810 (d) 47,782

26.

o

fﬁ:ﬁmﬁmﬁaﬁa@{sﬁmé

qm XA % T & faw, YA % 91
%ma‘:fmaw Z3 ¥ IS [ u
=+ fou faw =11 =g =man § 9t ey
" 23,000 wr=t g7, @ THH Y w1 T
Fa g ?
(a) * 5500 (b) * 5000
(c) * 6000 (d) * 4000
X and Y take a grass ground on
lease for ‘300 fgor grazing their
animals. If Xﬁes 10 animals
for 5 Weé}\ amd Y grazes 15
animals’for j weeks. The ratio
in whreh\they should divide the
rent 18, ./

sif 1 A B fag X SR Y A
Oug wm-iEA #1300 we(far)

X, Y and Z enter into pa_rtnerfJ; \”ﬁtm|qﬁ}(={ 10 9y =1 5 e

part of
capital for one-fourth of.t Ia\?e

time. Y contributes one fifth
of the capital fogfﬁl"éif 8¢ the
time. Z contrlbute}; “the re-
maining capifalfor the whole

time. How stionld they divided
a proflt[;ﬂ‘g ]:‘1340'-’
X 1}553 SR H 7 ATl Fet Teit BT

+~\s‘-ﬁml‘ima’:fﬁq Yq—é- I 1

1
ship. X invests Z

r\ﬂ'n‘ﬁda%ﬁqawrznmqmqjm

S Y% Rt e 9l e e

25.

1140 2, @ v =1 fewn = g 2

(a) * 100, * 160, * 880
(b) * 110, * 140, * 860
(¢) * 120, * 150, * 840
(d) * 140, * 170, * 830

H

: : 1
In a partnership X invests B th
; 1
of the capital for gth of the

%rd capital for

time, Y invests

B—rd time and Z invests the

remaining capital for the
whole time. If at the end of the
year the profit earned 1s °
23,000 then what will be Y
share?

27.

28.
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A @ YA 15 wEi &1 7 "e a%
-, Al I% A" d Y osgm |
T afz =fen -

(@ 1:2 (b) 10 : 21

(c) 11: 20 (d 2:

A and B started a business
investing amounts in the ratio
of 2 : 3. If A has invested an
additional amount of '10,000,
their ratio of investment

would have been 3 : 2, The

amount invested by A was :

A, B 7 um =MR g% {1 | 36 @Al

W 3EM 2 : 3% aquw | faw fen ) 3y

A 10,000 3R FEw F@ & @ =@

forereT =1 orqud 3: 2@ Wi €, A A A

for T frewr fe 2

(a) ‘8,000 (b) *12,000

(c) '18,000 (d) 20,000

The ratio of investments of two

partners X and Yis 11 : 12 and

the ratio of their profit is 2 : 3.

If X invested the money for 8

months, then the time for

which Y invested the money is:

g WEER X @R Y % fEw s e
1:12 % d91 37% oY 1 #qua 2

:3% 13k XA 8 wEH & faw faw

for &, @ Y A et w9 & forg frdw

fora 22

(a) 8 months (b) 9 months

(c) 10 months (d) 11 months
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29. A,B and C hired a car for 4,160.
A used it for 7 hours. B for 8
hours and C used it for 11
hours. The rent shared by A
will be :

A, B &R C A T% FR #4160 §
o w femm A9 752, B 7 8 % qan
C 3 11 =52 zo= 3w &, ot A &
fora frmen < w@m?

(@) 960 (b) "1120

(c) '1,260 (d) ‘1,760

A , B and C are three partners
in a business. The profit share

30.

of Ais — of the total profit and

" i A
B's shareis G of the total profit.

If C receives ‘243, then the
amount received by B will be :

TF =R § A, B @on C 9 "ERy ¥,

Amwmaﬁwm%%‘ams

. Tk R
mmwaﬁwqmzﬁluﬁcrﬂ
* 043 w1 enaiyt faen @t B ot faat

Tfir fieft ?
(a] 90 (b) 96
(c) "108 (d) 120

31. Ais a Active partner and B is a
Inactive partner in busines. A
puts in ‘5,000 and B puts in°
6,000. A received 15% of the
profit for managing the busi-
ness and the rest is divided in
proportion to their capitals. Th
amount received by A out of4
profit of ‘880 1n all is

uF =R § A AfFa %
fafera wrgem 81 A SOQﬁ%mm

“J

% 7em B * 6000 W%u A =
o9 =1 15% wﬁmaﬂ‘mm
% 3R m’ﬁm ‘tﬁﬁ % o
ST o HeedEr € | 880 % wma
mwﬁﬁAaﬁﬁm'ﬁTrﬁTﬁw#ﬁ?
(a) '132 (b) 340

(c) 472 (d) 492

32. A starts business with a capi-
tal of '14,000. five monts later
B joins and further two months
later C joins them. If the profit
sharing ratio in the end of year
1s 4 : 3 : 2, then the money in-

vested by C was:

info@spardha.guru

33.

¥

A * 14000 Ft Gt % 99 TF SR
& & € | T4 W & 9" B =R
F wnfirer g & qen 3Ed 2 wER A C
=R Wit g € | 9 ue # 3
H 3% 9w T 4:3:2%, @ C
3 fFrm oy fEw feg 97

(a) "18,000 (b) '16,800

(c) 18,600 (d) *10,800

A, B and C become partners in a

rd

; 2 1
business. A contributes = of

3

th
the capital for % of the time. B

1
contributes —1th of the capital

5

1
for gth of the time and C the

rest of the capital for the whole
time. If the profit 1s 1,820, then
the A’s share in profit is :

A, B 7o C % =am »

A g W = m,mw%ﬂ%l

1 & qen Bl 1 = WJWEF

m%m%a&xﬁ%ﬁcgm%
for Za ® ) wfdaam'lszom%,
A F qHE T F

a) 130 (b) 260

gé‘j -}zéz (d) 304

i '11:1 a business A and B gained

fi“’ some amount in a certain ra-
tio. B and C received the profit
in the ratio as that of A and B.
If A received 6,400 and C re-
ceived * 10,000. Find the
share of B
TF @9r H A da B # ww fAfva
o § e g3 B den C i ot 36
AT | one gan 5w erya § A qen
B &l g3 o | Afs @ HH A
6400 den C =1 10,000 fiet o B =1

fora wuu faei?
(a) 2,000 (b) 4,000
(c) '8,000 (d) '10,000

A and B share profits and losses
in a firm in the ratio of 3 : 2.
and C entered in this firm as a
new partner; his profit sharing

. If C has taken his

ratio 1s —

Copyright © All Rights Reserved | https://spardha.guru/

share of profit from A and B in
equal ratio, then the new profit
shareing ratio will be :

uF F § A 3R B @9 4 2ifq &6
FAE 3: 2 F 4 € | TF ¢ WERN
% w9 % CHOA o o & SHE o0 F
fedard ; M # 17 C3 A sk B
T HEE I H SO i foen €
AT T AT AW Sl BIm?

(@)19:11:1 (b)19:11: 10
(c)10:11:9 (d) 10:11:19
36. A, B and C share the profit in

the ratio of 2 7. If the av-
erage gam Q’%%OO, then B’s
share is § W\\f
A, B @1 © %/ @19l &1 9 2 ¢
3 (FRL %ﬁﬂﬁmmu 8000 %, 4t
v__WB £l ?va G w7
- @ 9 000 (b) *1,000
1,500 (d) 6000
M%? A, B and C share profit in the

Mf’;
s tio of 2.7 If C retires,
ra 4 612"

they share the profit of C in the
ratio of 4 : 5 repectively. The
new profit sharing ratio of A and
B will be :

A, B aenm C & TAET® F ST
%:é:% 21 afz C garfrge & s €,
@A CH fo & e =+l 299 § Hen:
4.5 9@ § =iz £, 9l Awa B
TS F T G FA B 7

(a) 55: 53 (b) 53 : 55
(c)5:3 (d) 3:5

A and B enter into partnership
investing * 48,000 and * 60,000
respectively. After 3 months, A
withdraws * 8,000 while B in-
vests ' 6,000 after 6 months of
starting of business. Out of the
total amount of profit, if A gets
12,000 as his share at the end
of the year total proift is :

A7 BH wF =R § %A91: '48,000
T« " 60,000 = fEw a1 37w &
TR A, * 8000 fa &l ¥ wEfE
FME Y& 84 & 6 WE % 9% B
6000 &t fem w & | Ak ad &
o4 W e @9 H § A = 12000
foen, & == w19 W@ w12

(a) ‘24,000 (b) 30,000

(c) *36,000 (d) 37,000

38.

|" 791
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39.

40.

41.
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M, P and Q together started a
business. M invested * 6,500 for
6 months, P invested * 8,400 for
5 months and Q invested °
10,000 for 3 months. M 1s work-
ing member for which he gets
5% of total profit extra. If the
total gain 1s * 7,400, then Q’s
share is :

M, P 3 Q 7 fieie ©F =R &
f&m 1 M 3 6 &R & fag 6500 1
fiéw fn, P+ 5 % & form * 8400
=1 few T oon Q3 3WER % fow®
10,000 =1 f&w fFm | =R garer
% fag M &1 ®d o9 H1 5% I
foerar 1 afx & =19 * 7400 T, at
Q =1 fewm 7@ w12

(a) ‘1900 (b) 2,100

(c) 3,200

(d) Data are incomplete

A ,B and C jointly start a
businees A puts in ‘15,000 for
8 months B puts in 12,000 for
9 months and C puts 1n ‘8,000,
for the whole year. In the end of
the year there is a profit of
*10,800. The difference between
A’s share and C share in the profit
will be:

A, Baa CH fiest % =R I&
fFamr | A5 115000, 8 Wi+ % forw, B
¥ 12000, 9 wEH # fom s CH
8000 g 5 # ferw e | afs 9@ &

&7 H ° 10,800 w1 @14 g, dl AF

C F =19 =1 L 9 2m?

(a) "800 [b] 600,{4:',,, i
(c) '1200 ;ﬁéoo

A started a bus1 %,y invest-
ing ‘50,000. 6 months B

joined her by 4 inj st1ng 75,000
After 1;,2 mpﬂths C joined
with 1,25/ “ What is the ra-
tio of profit shared after 2 years
among A, Band C ?
A 750,000 # f&Ew = Wy TF
MR & fwa | 6 7EH # uvEn B
175,000 % Wiy AR A INfHE g3
#i g8% 6 wEH | C ° 1,25,000
# Wy = o wnfae gan o 2 d #
Tvar A, B CF a9y &1 994
A Fifeg

792 |
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42.

43.

[a)4:5:6 (b)8:9:10
c)8:9:12 (d)4:5:8
A starts a business with
'45,000. After 6 months B en-

ters in his business with
'‘80,000. After one year C in-

vests '1,20,000. In what ratio
the profit will be divided among
A, B and C after two years?
'45,000 % WY A 7 UFH AR TE
fFa1 | 6 WER # 91" 80,000 & €™
B =R wifra @ o 1 ad &
J7EE C =9 ® 1,220,000 fEw
FEE, A A, Baa C& d=
w9 Y eaa § Sie Sen?

@) 9:16:24 (b)3:4:4

() 3:4:8 (d) 328 =8
Three partner A, B and C

started a business by investing

Rs. 48000 each.after 6 months,
A left the business after °

months B left the busines 4 d,,@

after 12 months C 1
business. If total e
is Rs. 5250, t
share of A, B g{ éi.i*;

ﬁﬁar{wsoooﬁ
TF ANE T
‘A, 6 TR 4w, B, 10

ﬁenc 12 WER A% SR ¥
ﬂaj?m 21 afg %@ @19 ° 5250

t the
ned ‘profit
ﬁna" the

A, Baen Cf
mw ]

\{‘;ﬂgdﬂﬁ o 3uH 4 A, B 3 C#

v

44.

ferm fwa &m 2

(a) '1125,1825,2250

(b) * 1125,1800,2200

() '1125,°1875,2250

(d) '1175,1256,'2350

Three partners started a
by investing
Rs.60,000, Rs.80,000 and Rs.
1,20,000 respectively. First

business

partner left the business
after 4 months, secondafter 9
months and third rem ained
in the business for the whole
vear. At the end of year the
total profit earned 1s Rs.
1,60,480, then find

theirshares of profit.

45.

3.\.-

46.
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1 @EEr F991: * 60,000, * 80,000
el '1,20,000 F1 B9 w7 TH
MR YF T &1 Yeell WEER 4 9EH
TR, TE 9 HEM T T 90 W T 9
=R | w1 afe 94 # 3§ R/ @y
'1,60,480 =, @ @l @EEE #i

(a) * 16840, 44188, * 92686
(b) * 16048, 48144, * 96288
(c) 16042, 14842, * 9862
(d)* 15000, ‘13423, * 7562

AB and C l’jégé‘hvested a sum
of Rs. 125 1{«1,;& business. B
invested v"’“i‘ﬁ’OOO more than

A ?q«nd«(}f mvested RS. 20,000
more then B. If the total earned

prdfifis Rs. 37450 at the end
\wgf year, then find their share

of profit.

fedt = 5 A, Baw C3 FHA
*1,25,000 fam 7 smH B A
' 15,000 = e fd @1 C3 B
' 20,000 =1fuw FEw fF52 afg ad &
0 W Fel 37,450 H @4 g3 B, a@l
T v fewm fEa g
7490, '11984, *17976
‘8480, ‘7550, ‘8560

(e) 7940, 7054, 17500

(d) 5100, ‘6943, ‘7140

A started a business by
investing Rs. 42000. After few
months B joined by investing
Rs. 49,000. If at the end of year
A got Rs. 9000 and B got
Rs.7000 as a share of their

profit. Then after how many

(2)
(b}

months B jomned the business.
A 7 42000 &9 %% TF AR
F fFan S9F %9 WA 98 B
49000 991 =% =A9R H A
B T Afg 99 ® ovw H ey & e
" A 9000 dar B & 7000
Ut g ®, @ B fmd wEH s
=R § e g

(b) 4 months
(d) 3 months

(a) 1 month
(c) 2 months
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48.

49.
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A started a business by
investing some money and B
invested Rs. 5000 more than
that of A. A remained 1in
business for 5 months and B
remained in business 1 month
more than A. out of the total
profit of Rs. 26000, B got Rs.
6000 more than A . Find the

capitals invested A and B.

A7 %P T A9 & 0% AR
fear asm B A9 5000 @ e
fF1 A, 5 TER 7% =R | = 991 B
ST 1 wE Sifers SR § @ e T
"26000 H g e i A BRI AF
6000 s 99 g0 @ i 5 A
a1 B ¥ freri-foraet St frsrer %67

(a) *29,000, ‘18,000

(b) *25,000, '30,000

(c) *15,000, ‘10,000

(d) *15,000, 20,000

A, B and C invested money in

in a

the

business. After 4 months A
doubled his investement and
after 6 months B halves his
investement. If the total profit
at the end of year be Rs. 34650
then find the share of each in

profit.
A, B de1 C 7 fadt =mn § 95t
1 g

235$mﬁﬁwﬁiaﬁ

TER AE A 9 Audr st w g
fem qon 6 wER ag B A ot
F oamen F faEm gfg 9d &
34650 1 N9 gA @,
yeiw w1 feem ﬁ'fnae
(a) 20,000,25 0@11“8 000
(b) *15,500,27,200,20,450
(c) 22 5@1 '6750,'5400

(d) 1035({231%40 '12,050

A and B started a business by
investing Rs. 36000 and Rs.
45000 respectively. After 4

ratio of

| =
W=
[0

-mﬁ’ﬁ

months B withdraws — of his

.2

investment. its 5 months After

11 .
39 of its

original investment. If the total

she again invested

50.

a4

%,

51

Pt
Jﬁﬁm

earned profit at the end of the
yvear, is Rs. 117240, then who
will get more money as a share

of profit and how much?

A & B st =mm # w8 36000
A1 * 45000 FEL {EATR FA &l 4

nﬁﬁaﬁsm%ﬁm%wﬁ'ﬂa
ol Bl IEH 5 HEH 9@ o A oo

EEIED 1§1~ a9 PR R A 2

afz a4 & a1 § 117240 %1 @14 7,
it e § § fageE @R faad v et
£ L P

(a) A, 15,500 (b) B, 12,450
(0) A, 14,245 (d) B, ‘13,560
A, B and C started a business
by mvesting Rs. 24,000, Rs.
32000 and Rs.18000 respect
ively. A and B are active

partners and get 15% and 12%
)

of total profit and remainin

952.

profit is to be distrib; tga;l‘} WJ

among them in the ra
their investment. If C gcﬁ;tq%él
Rs.65700 as a profi ,what\ was
the total amount gf; Pmﬁt"f’
A, B a®@ w q HH9I:
24000, * 3 el * 18000 firder
T #1 A A BlufE WA #
T FA A FH: 15% a9 12%
L2l 319 @ 3T BN Al
Fefr s A =iz fen s @) Ak C
65700 wr= gam ®, @ I\
o onw =+ @ ufen =@ R ?
(a) 4,70,000 (b)* 3,70,000
(c) '3,45,000 (d) *1,57,000
A, B and C hired a pasture. A
grazed 12 cows 2 hours every
day for 4 months, B grazed 16
cows, 4 hours every day for 6
months and C grazed 6 cows 9
hours everyday for 2 months.
If B has paid Rs. 1152 as a
share of fare. Find the amount

of total Rent.

A, B am C 9 & = faE w
frm AR 12T ofafem 2 B2 F e W
4 e 9% 9% B, 16 T wfafed 4 5
FI g W 6 HE IF I qen C 7 6 T
9 =2 gfafeT =t T H 2 W 9% 9 I
B 3 o fe= & w9 A * 1152 fowwmn
feam 4t wm wifew fF B w5 5w ot
E2 )

T

“of# 53.
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(a) ‘1413 (b) '1214

(c) '1764 (d) '1102

A started a business with the
capital of Rs. 500. After 2
months B joined A with Rs.
400. 6 months after the
business started C joined with
Rs. 800. If the total profit earned
at the end of the year is Rs. 444

find the share of their profit.
A’ 500 #t sft § UF AR YE FILA
21 2 ¥ 15 B =R § 400 fEw
I T O IF PH F 6 TR Ww C
800@1113'{ SRS G

g 444 7, 3uH
“}ﬁﬁm%}

(a]ﬂawmo 144

"'“[bJ’{i} 0,130,123
“fﬂwj ‘160,141,125

(d) 141,110,140
A and B started a business in

investing

4000

partnership by
Rs.10,000 and Rs.
respectively. condition of
partnership is that B got
Rs.100 per

management of the business.

month  for
After paying 5% interest on the
capital, annual profit has
distributed in the ratio of their
investment. Find the share of
their profit, if the annual profit
is Rs. 4000.

A #R B wF =R § %Aw: 10000
4 4000 =t Pft FEw w € wEER
#1 v & fF B = =mun # fmwe % fu
* 100 wame fiem =iffs 95t W 5%

A T % 9% Ates A9 H 375
faw & oum § @ie fn s @
4000 # aifts e § | g 1 feem
M i
(a) * 3000 each
(b) * 2500 each
(c) * 1500 each
(d) * 2000 each
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www.spardha.guru



54. A, B and C are partners in a

business partnership. A
invested Rs. 4000 for whole
year. B invested Rs. 6000

initialy but increased this

investment upto Rs. 8000 at the
end of 4 months, while C
invested Rs, 8000 intially, but
withdraw Rs. 2000 at the end of
9 months, At the end of year
total earned profit is Rs. 16930,

find their share of profit.

A, B 3R CU% =K § 4EEN 8 A g

a9 $ fow * 4000 fEw =@ &1 B

s #6000 FEw Fa & 5 9

W & = § 8000 FT M 1 wElE C

e F 8000 Fdw a1 € W 9

e # &= H ° 2000 fra o &1 ad

+ o ° WE 16950 % w9 § 9 W

=l fewm s@ wife?

(a) '3600,'6600,6750

(k) '2000,3050,5400

(c) 2450,2460,'1456

(d) None of these

. Three partners A, B and C
6

5 4
invested in the ratioof —:—:

4°5'5
in a business. After 3 months
A increased his capital by 50%
If the total profit of Rs. 35,700
earned at the end of year, find
what was the A’s share of

fFdt =R # ¥ wE % fon oot
TSt 1 eravawal off 3HA 30% A7,
2 e B qen 9 5t 4 i o 1 o
F§ & o o =1 * 4000 F AN g4 7,
1 B g e T St 5 20% 8 76 C

7 39 R # o Bi few 7
(a) 25000 (b) *10000
(e) *15000 (d) *12450

. A and B started a business in

partnership by investing in the
ratio of 7 : 9. After 3 months A

. 2 . .
withdraw 3 of its investment

and after 4 months from the

5 : 1
begining B withdraw 335% of

its investment. If a total earned
profit is Rs. 10201 at the end of
9 months, find the share of

each in profit.

A 3R B uERf § F S

ERIE Ve 9&%313trmﬁay‘$%
mm%.mmqmm%am

Eal gﬂmﬁ-ﬂa@ﬂf’égmﬂmﬂ

aﬂﬂﬁaﬁﬁaﬁ?l‘;qsﬁm 331
ﬁﬂﬁﬁﬂk?l%QTﬂ?aﬁﬂﬁ
10?:6??%.1 @ g e, df sEd 9§
m\aﬂﬁww%ﬁn?

v [é] Rs 294
N
fﬁO A, B and C enter into a

| afg uF 9d ® o= F A
32940 ®1 eMH g 81, @ IUH 9 A
=1 fe=mr 1 wm?

(a) "12960

(b) 11340

(c) ‘8640

(d) None of these

Rs. 490 is divided among A, B
and C such that A's share is
half that of B's and thrice that
of C's. What is C's share?

T 490 F A, CH w8 TR
faufsm fam ﬁ?A?HQ’FT{B
b a7en :ﬁr b ¥R A o R
C,ﬁ[ﬁ'&ﬂﬁﬁm%‘?
& [aL,lig} 49 (b) Rs. 147
(d) Rs. 245

partnership, investing Rs.
6000. A invests Rs. 1000 and B
and C in invests in the ratio of
2 : 3. Find the profit of C, when
the annual profit is Rs. 2400

A, B @it C & 6000 faw =&
wEEd gE W @1 A wEd £ 1000
F A F@ 2 aam Baw C, 2: 3
% oy 4 fEw ww g1 9 aifts

profit? ?’1&}98535 ‘6666 @Y % 2400 @, 9 54 & C =
Farelt =R § i WERR A, B €3~ (4D)'3055, 5555 foram ey gam

546 (c)'4503, "1345 (a) Rs. 600 (b) Rs. 1200
m:—:—-—a;a:gmﬂu;rﬁwéhx . .

Peo (d)'3545, 3333 (c) Rs. 1800  (d)Rs. 1950

1 TEH Am AT A g mﬁﬂﬁ 58. Three partners invested Rs.

info@spardha.guru

Ifz = & 1 At = ?m"‘,ﬁan e
35700 =1 @149 g3 HWﬁAm

e = oa1? A9
(a) *12,0 ,1}?8 16,500

(c) * 13,000 u{d] 15,600
Out of total capital required to
start a business A invested

. 2
30%, B invested Eth and C

invested the remaining
capital. At the end of one year
sum of Rs. 4000 is earned as a
profit which 1s 20% of the
capitial given by B, then find
how much C invested in the
business?

794 |

42000, Rs. 48000 and Rs. 32000
respectively. part- nership
condition 1s that, each will the
get interest on his capital at the
rate of 7% per annum and the
remaining profit will be divided

m the ratio of their capitals. If

at the end of the year the total
profit 18 Rs. 32940, then find the

share of A in profit.

fret =mam o 9 @ERR A, Bwan C
®HY: 42000, ' 48000 g1
32000 f&er #@ & wERE wt v 98
# for wolw ol gl W 7% anfiE < @
TS o S e § o g faEm s gen
¥ ey o frafm dst & eruE o

Copyright © All Rights Reserved | https://spardha.guru/

3 brothers divided 1620 among

them in such a way that the

share of second is equal to —

13

of share of other two,
combined. What 1s the share of
the second one?

o Al 5 amaw § 1620 = Uiy utw
aid fr qw WE W e @ e @
Hoa femd &1 %ﬁwﬁma@im‘
FI fewm fram 27

(a)' 1170 (b)* 450
(c)' 540 ()" 500
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62.

63.

64.
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A, B and C together start a

business. Three times the

investment of A equal four
times the investment of B and
the Capital of B is twice that of
C. The ratio of share of each
in the profit.

A B Cus @ fas &1 =
HRER T H ©1 A g &
a1 =01 9 T B & e & =R T
% T 8 R B S CH g ©
A B oTw F T @ FE W
I AL ?
(a)8:3:6

(c)3:6:8

(b)3:8:6
d]8:6:3
Raman, Manan and Kamal are
partners and invest in a busi-
ness such that Raman invests
2/5th of total and Manan in-
vest 3/8th of the total. What is
the ratio of profit of Raman,
Manan and Kamal respec-
tively?

TH, T a1 FAd WERR § a9l U
=R H 1w Fe € O w5l e w5
2/5 I W H el T 3/8 |
FEY X & 99 A, WA aO A B
o9 T S 82

(@) 16:15:9 (b) 16: 15: 31
(c}2::3:5
A started a business with_
time with Rs 25000. 5% and B
share the profit m é ratio of
1:2 respectivel @fn what is
the ratio of ,tﬁ'ne period of
mvestrntaﬁ f5 5 and B respec-
tively?

ATH FEEE & 20000 & § ARXT
FA € T B FS TG IR 25000
w % WY A | e g g A
FHI: AT B &9 F 12 F I
¥ a1t €, ° wE AT B o |
| afy 1 AIE =1 g7

(a) 1:2 (b) 5:6

(c)5:8 (d) 57

d15:16:9

65.

66.

67.

P, Q and R invest in a business

1 1

2°3"12

tively. Out of a total profit of Rs.
121000, what will be the
share of Q?

m the ratio of = respec-

111
2'3"12
% 1 § e F3 €1 121000 ®9
F He @9 H 9 Q w e (¥ H)
feram grm?

(a) Rs. 44000 (b)Rs. 50000

(c) Rs. 48000 (d)Rs. 46500

Rs. 94000 is divided among A,
B and C such that 20% of A's
share = 25% of B's share =
15% of C's share. What is the
share (in Rs.) of C?

P, Q4 R U =AMK H FH3T: —

69.

94000 =9 #1 A, B 71 cﬁgnmf};

s ffan o & 6 A%

|
20%=B H?WWQS%—CXT
1 15% 8 Caﬂfm:m(maﬁ ) & E?

(a)23500  (b) 2}50& 2
(c) 40000 ﬁdj 153857
A and B t;eaga partnership

business’ mvestlng in the ra-
tio of 3:8. *joined them after 4
mﬁﬁb ﬁs}mth an amount equal
#o SJ'Ath of B. What was their

7 »Q_,@ﬁt (In Rs.) at the end of the

3
\‘\_ -

20000 and B joined aftes sogre’

68.

C f’fyear if C got Rs. 24,000 as his

share?

Adm B 3:8% aum o fewamd
T MR IR A 4w | C
3 B % 3w fEw =+t 4 ufyn 5t 3/
4 ufyr =1 e s fasee o ariert
gRY 1 94 F ofd F 3 oy fEen
(% %) =1 afg C =% 24,000 w7
foem 27

(a) 120000 (b) 15000
(c) 90000 (d) 180000
A and B invest in a business

5. After 10

months B leaves the business

in the ratio 4 :

after withdrawing his invest-
ment. In the first year the
business made a profit of Rs.
49,000. What is B's share (in
Rs.) of this profit?

70.
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AT Bl SR H 4 : 5% & |
fm fram 10 wéH & B 7 a1 faw
T TR AR H W e ol et
= F =AMR 49,000l T4 g7 37 4
4B fewn (w93 #) T ar?

(a) 25000  (b) 20000

(c) 18000 (d) 22000

A starts a taxi service by invest-
ing Rs25 lakhs. After 3 months,
B joins the business by invest-
ing Rs40 lakhs then 4 months
after B joined, C too joins them
50 lakhs. One
year aftaag @tcd the busi-
ness thiey, fiiake Rs 2,73,000 in
profit- What is C's share of the
proﬁt[}rfé Rs)?

by investing

WX%WWWWWW
Mmﬁﬂwnm%wﬂﬁ%ﬁﬁB 40

@ w9a # Few fasrw | 9
T 1 S BF faew @ T E 4
TEIH A% 50 T 9 1 e W
C i 38 W5 W 21 A% fawed
WY FE F | 99 9% 3% 2,73,000
Tl 1 N B &1 T H C H A
(o ) faamm emm?

(a) 100000 (b) 1,25,000

(c) 75000 (d) 1,50,000

A, B and C invest in a busi-
ness in the ratio 4 : 5: 7. C is
a sleeping partner, so his
share of profits will be half of
what it would have been if he
were a working partner. If they
36,000 profit of
which 25% is reinvested in

make Rs.

the business, how much does
B get (in Rs]?
A,B#HR CH foredt fasm® # 4 ¢ 5
7 % SAq9m | fraw fFan ¢ wAfun
YR B & SEeh e o9 few
191 BRN AR 9% afeh=1 9T Bl
4% 3% 36,000 T9Al 1 OMH BIO §
fomd @ 7 259 fasmm o g@: faw
& B @ B & fwaw faerm?

(991 H)
(a) 7560  (b) 10800
(c) 8640  (d)9200
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71. A and B started a partnership 73. Two businessmen A and B in- 75. A an.d B start a business by in-
. . . vest in a business in the ratio vesting equal amounts. Four
business investing some 5:8. They decided to reinvest months later, C joins them in-
sihiountnthe wtioof 546 € 30% of the profit they earned vesting Rs 3.5 lakhs. By with-
o back into the business. The re- drawing his investment in the
joined then after 6 months . s s .
) maining profit they distributed business B leaves the busi-
with an amount equal to 2/3 amongst themselves. If A's ness 4 months after C joined.
of B. What was their profit (in share of the profit was Rs 87, At the end of the year the bUS%-
Rs) at the end of the year if C 500 then how much profit (in HEld fdlen Re 62800 faaiit
_ Rs) did the business make? out of which A collects Rs
got Rs 21,600 as his share? & wrE A B 58 F S 24,000 as his share of profit.
AT B 5: 6% o § 9w ﬁﬁmﬁﬁwﬁﬂﬁ% How much should bhe paid to C
T (S T FHT T ¥ 30% 9 (in Rs) as his sha‘re of profit?
o ol e e e i e & yAfE w5 ok e ASIR B ¥9F WH1 § g fEw
7 919 14 1 3% @4 & off 9 foafa E TF '}sﬁmﬁ%lw
T W F 2/3 F R e w1 foan emm ww # A w9 s s ra =
F foaorm € g8 T afg C Fi 39F 87 500 93 o1, A 3 FHREAX H it WQ@WJ;@" RENIECE
N N \ 8 foRe Fovpi-d 7 ?Trﬁ{a | C gam YA
feed % w9 § 21,600 % firerd € 71 o (T H) g
. 5 : (a) 227000 (b) 250000 Elaac 4){%'% o= fasra § § e
& ofd § FH ey (% H) fRaw an?
(c) 375000 (d) 325000 ﬁﬁma?rarmaamammmaﬁ
(a) 36800 [b}56160 74. A starts a cement trading ?{ﬁ'[ 1 O F od ¥ =aEE 62,
(c) 70200 (d)1,40,400 business by investing Rs. 5 Jy 400 ® =1 o9 wa v 3, foay
72. A, B and C invest to start a laiche; Aften® months, Bim‘}f, ) ¥ AT 24,000 ®Y F @4 firer
¢ ¢ The total i it the business by 1nvest;r;t§)> S/ 3 7 e & o
restaurant. e tota 1nve.s; - 10 Lk anid thei 4 th"'s ‘IET‘:{ E’Fﬁ Y C‘('{?\
ment was Rs 3 lakhs B in- after Bjoined C toe OLﬂSt H) =i foraen AW T s a2
vested Rs 50, 000 more than by investing RSA) (a) 16000 (b)32000
A and C invested Rs 25, 000 year after A \siaarté’d the (c) 22400 (d)27800
less than B. If the profit at the bumnes; make Rs. 76, A and B invest in a business
s B the yesr was RE 18, 3,50 029 n\Pl’Oﬁt What is B's in the ratio 3.: 7. The busmegs
. share ftH'EJpIOtlt (inRs.) ? makes a profit of Rs 60,000 in
400 then what 1s C's share of ,By'-&gg w i TN S i L. They dasile 15 dianih-
the profit (in Rs)? m‘%l G I I ute the profit remaining after
A B3R C Yo FA T A\ it £ reinvesting 40% of the profit.
§ W, il C f’““* B 10T o i How much will A get (in Rs)?
fou fem Fa g @ fems e s~ B SR A gz 9w E qw B i X 5
ol B A Q@ § 50,000 €4, ) AR H Jed % 4 wEH a) C «f 20 3 B;;;E'i“ i Iﬁ‘
e fom fofan 3ik CH B3R %513903 W;"ﬁm“a“ﬁwg'ﬁ? e é_w
& 1 F9 o R “‘ﬁ“"ﬂﬁ mJA\‘a}w‘mﬂmﬁa} 1a1;t 60,000‘5?[@‘413?5"?1 \l 3%-‘-1\
i e TwEE % MR # 3, 50,000 9 1 40% Teem Ty § few &
¥ sfsia @9 14 400 ® ,rrraﬁ?ﬂvr : ) .
dsionly ;’i‘%uwﬁ)? F 9 Bl 2l @ § B @ fewm F 9% o9 & foaRd 7 F1 fqvE
e 7 mg ' forern (e ) 87 foran &1 A% Fore T B (T H) 2
(=) ‘3600,  YQFB00 (a) 75000  (b) 1,25,000 (a) 25200  (b) 156000
(c) 6000, «d) 7200 () 1,50,000 (d) 1,00,000 (c) 10800  (d)20400
%
S g
T ANSWER KEY
1. @ 9. () 17. (b) 25. (d) 33. () 41. () 49. (d) 57. (a) 65. (@) 73. (d)
2. (o 10. (a) 18. (d) 26. (b) 34. (o) 42. M) 50. () 58. (b) 66. (qd 74. (b
3. (o 11. (b) 19. () 27. (a) 35. (b) 43. (c) sl (g 59. (a 67. (d 75. (¢
4. (@ 12. (@) 20. (a) 28. (d) 36. (d) 44. b) 52. (a) 60. (b) 68. (a) 76. (o)
5. (g 13. (o 21. (g 29. (b 37. (a) 45. (a) 53. () 61. (b 69. (q
6. (o 14. (b) 22. (a) 30. () 38. (b) 46. (b) o54. (a) 62. (d) 70. (b)
7. (a 15. () 23. (a) 31. (o) 29. (a) 47. (d) 55. () 63. (a 71. (d
8. 16. (d) 24. (a) 32. (b) 40. (a) 48. (c) 56. (¢ 64. (c) 72. (b
796 ||
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